

On a Reverse of the Slightly Sharper Hilbert-type Inequality

JIANHUA ZHONG

Department of Mathematics, Guangdong Institute of Education, Guangzhou, 510303, P. R. China

e-mail: zjh@gdei.edu.cn

ABSTRACT. In this paper, by introducing parameters λ, α and two pairs of conjugate exponents $(p, q), (r, s)$ and applying the improved Euler-Maclaurin's summation formula, we establish a reverse of the slightly sharper Hilbert-type inequality. As applications, the strengthened version and the equivalent form are given.

1. Introduction

Suppose (p, q) is one pair of conjugate exponents ($\frac{1}{p} + \frac{1}{q} = 1$), and $p > 1$, $a_n, b_n \geq 0$, $0 < \sum_{n=1}^{\infty} a_n^p < \infty$ and $0 < \sum_{n=1}^{\infty} b_n^q < \infty$, then we have the slightly sharper Hilbert's inequality as (see [1]):

$$(1.1) \quad \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{m+n+1} < \frac{\pi}{\sin(\pi/p)} \left(\sum_{n=0}^{\infty} a_n^p \right)^{1/p} \left(\sum_{n=0}^{\infty} b_n^q \right)^{1/q},$$

where the constant factor $\frac{\pi}{\sin(\pi/p)}$ is the best possible. Inequality (1.1) is important in analysis and its applications (see [2]). In recent years, some best extensions and a new applications are given for inequality (1.1) by introducing a parameter λ and the β function (see [3]-[5]). In 2005, Yang gave the following extended form of (1.1) with several parameters (see [6], (3.1)):

If $(p, q), (r, s)$ are two pairs of conjugate exponents, and $p > 1, r > 1, 0 < \lambda \leq \min\{r, s\}$, $a_n, b_n \geq 0$, then

$$(1.2) \quad \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{(m+n+1)^\lambda} < B\left(\frac{\lambda}{r}, \frac{\lambda}{s}\right) \left\{ \sum_{n=0}^{\infty} \left(n + \frac{1}{2}\right)^{p(1-\frac{\lambda}{r})-1} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} \left(n + \frac{1}{2}\right)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}},$$

where the constant factor $B\left(\frac{\lambda}{r}, \frac{\lambda}{s}\right)$ is the best possible. Inequality (1.2) turns into

Received November 12, 2008; accepted March 10, 2009.

2000 Mathematics Subject Classification: 26D15.

Key words and phrases: Hilbert-type inequality, weight coefficient, conjugate exponent, Euler-Maclaurin's summation formula, Hölder's inequality.

(1.1) when $\lambda = 1, s = p, r = q$.

Under the same condition of (1.1), we have the Hilbert-type inequality (see [1], Th. 319, Th. 341) similar to (1.1) as:

$$(1.3) \quad \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m, n\}} < pq \left(\sum_{n=1}^{\infty} a_n^p \right)^{1/p} \left(\sum_{n=1}^{\infty} b_n^q \right)^{1/q},$$

where the constant factor pq is the best possible.

Recently, Yang (see [7]) gave the following form which is shaper than inequality (1.3) by introducing a parameter $\alpha \geq \frac{3}{4}$:

$$(1.4) \quad \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{\max\{m, n\} + \alpha} < pq \left(\sum_{n=0}^{\infty} a_n^p \right)^{1/p} \left(\sum_{n=0}^{\infty} b_n^q \right)^{1/q},$$

where the constant factor pq is also the best possible. Obviously, inequality (1.4) reduces to (1.3) when $\alpha = 1$.

It is a difficult problem to discuss the reverse forms of inequalities (1.1) and (1.3) before introducing some parameters and the β function. In 2004, Yang (see [8]) gave the reverse form of Hilbert's double series inequality as follows: Suppose $0 < p < 1, \frac{1}{p} + \frac{1}{q} = 1$, then

$$(1.5) \quad \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{(m+n+1)^2} > 2 \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{1}{4(n+1)} \right] \frac{a_n^p}{2n+1} \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} \frac{b_n^q}{2n+1} \right\}^{\frac{1}{q}},$$

where the constant factor 2 is the best possible.

In 2006, Yang (see [9]) established the estimate value of reminder for the Euler-Maclaurin summation formula in mild conditions and gave the reversed version of Hilbert-type inequality as follows:

$$(1.6) \quad \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{m^2 + n^2} > \frac{\pi}{2} \left\{ \sum_{n=1}^{\infty} \left[1 - \frac{3}{2\pi n} \right] \frac{a_n^p}{n} \right\}^{1/p} \left\{ \sum_{n=1}^{\infty} \frac{b_n^q}{n} \right\}^{1/q},$$

where the constant factor $\frac{\pi}{2}$ is the best possible. And Yang also gave a strengthened version of inequality (1.6) as:

$$(1.7) \quad \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{m^2 + n^2} > \frac{\pi}{2} \left\{ \sum_{n=1}^{\infty} \left[1 - \frac{3}{2\pi n} \right] \frac{a_n^p}{n} \right\}^{1/p} \left\{ \sum_{n=1}^{\infty} \left(1 - \frac{1}{2\pi n} \right) \frac{b_n^q}{n} \right\}^{1/q}.$$

In this paper, by introducing two parameters λ, α and two pairs of conjugate exponents, and estimating the weight coefficient, we establish a reverse version of the extended form of (1.4). As applications, we give its strengthened version and the equivalent form as well.

Hence we will use the improved Euler-Maclaurin's summation formula as follows (see [10], [11]):

Suppose the function $f(x)$ is a smooth piecemeal on $[0, \infty)$, $(-1)^i f^{(i)}(x) \geq 0$, $f^{(i)}(\infty) = 0$ ($i = 0, 1, 2, 3$) and $\int_0^\infty f(x)dx < \infty$, then

$$(1.8) \quad \int_0^\infty f(x)dx + \frac{1}{2}f(0) \leq \sum_{n=0}^\infty f(n) \leq \int_0^\infty f(x)dx + \frac{1}{2}f(0) - \frac{1}{12}f'(0).$$

Inequality (1.8) takes the form of strict inequality as $f(x)$ satisfies $(-1)^i f^{(i)}(x) > 0$ ($i = 0, 1, 2, 3$).

2. Some lemmas

Lemma 2.1. *Suppose $r > 1$, then*

(1) *when $\lambda > 0$, $\alpha \geq \frac{2}{3}\lambda + \frac{1}{12}$, we have*

$$(2.1) \quad F(\lambda, \alpha) := \frac{1}{\lambda}\alpha^2 - \frac{1}{2}\alpha - \frac{1}{12} \geq \frac{5\lambda}{48} > 0, \frac{5\lambda^2}{48r\alpha^2} < 1 \text{ and } \frac{\lambda}{2s\alpha} < 1;$$

(2) *when $\lambda > 1$, $\alpha \geq \frac{2}{3}\lambda + \frac{1}{12}$, we get*

$$(2.2) \quad 2\alpha - 1 > \frac{5\lambda^2}{24\alpha}.$$

Proof. By the condition of (1), we find

$$\begin{aligned} F(\lambda, \alpha) &= \frac{-\lambda - 6\lambda\alpha + 12\alpha^2}{12\lambda} = \frac{6\alpha(2\alpha - \lambda) - \lambda}{12\lambda} \\ &\geq \frac{(4\lambda + \frac{1}{2})(\frac{1}{3}\lambda + \frac{1}{6}) - \lambda}{12\lambda} = \frac{15\lambda^2 + (\lambda - 1)^2}{144\lambda} \geq \frac{5\lambda}{48} > 0; \end{aligned}$$

at the same time, we obtain

$$48r\alpha^2 > 48\left(\frac{2}{3}\lambda + \frac{1}{12}\right)^2 = \frac{64}{3}\lambda^2 + \frac{16}{3}\lambda + \frac{1}{3} > 5\lambda^2,$$

$$2s\alpha > 2\left(\frac{2}{3}\lambda + \frac{1}{12}\right) > \lambda.$$

Hence we get inequality (2.1).

By the condition of (2), we find

$$\begin{aligned} 24\alpha(2\alpha - 1) &\geq (16\lambda + 2)\left(\frac{4}{3}\lambda - \frac{5}{6}\right) \\ &= 9\lambda^2 + 7(\lambda^2 - 1) + \frac{16}{3}(\lambda - 1)^2 > 5\lambda^2. \end{aligned}$$

So we complete to prove inequality (2.2). □

Suppose (r, s) is one pair of conjugate exponents ($\frac{1}{r} + \frac{1}{s} = 1$ and $r > 1$). Define the weight coefficient $\omega_m(s, \lambda, \alpha)$ as:

$$(2.3) \quad \omega_m(s, \lambda, \alpha) := \sum_{n=0}^{\infty} \frac{(m + \alpha)^{\lambda/r}}{(\max\{m, n\} + \alpha)^\lambda} \left(\frac{1}{n + \alpha}\right)^{1-\lambda/s} \quad (m \in N_0).$$

Lemma 2.2. *Suppose $r > 1, \frac{1}{r} + \frac{1}{s} = 1, 0 < \lambda \leq \min\{r, s\}, \alpha \geq \frac{2}{3}\lambda + \frac{1}{12}, m \in N_0$. Then we get the following bilateral inequality:*

$$(2.4) \quad 0 < \frac{rs}{\lambda} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(m + \alpha)^{\lambda/s}}\right] < \omega_m(s, \lambda, \alpha) < \frac{rs}{\lambda} \left[1 - \frac{\theta_2(\lambda, s, \alpha)}{(m + \alpha)^{\lambda/s}}\right] < \frac{rs}{\lambda}.$$

where $0 < \theta_1(\lambda, s, \alpha) = (1 - \frac{\lambda}{2s\alpha})\alpha^{\frac{\lambda}{s}} < \alpha^{\frac{\lambda}{s}}, \theta_2(\lambda, s, \alpha) = \frac{5\lambda^2}{48r}\alpha^{\frac{\lambda}{s}-2}$

Proof. Setting $f_m(x) = \frac{1}{(\max\{x, m\} + \alpha)^\lambda} \left(\frac{1}{x + \alpha}\right)^{1-\lambda/s}$ ($m \in N_0, x \in [0, \infty)$). First for $m \in N_+,$ when $\lambda < s,$ we find

$$(2.5) \quad f_m(x) = \begin{cases} (x + \alpha)^{-1-\lambda/r}, & x \geq m, \\ (m + \alpha)^{-\lambda}(x + \alpha)^{-1+\lambda/s}, & x < m. \end{cases}$$

When $\lambda = s,$ we have

$$(2.6) \quad f_m(x) = \frac{1}{(\max\{x, m\} + \alpha)^\lambda} = \begin{cases} (x + \alpha)^{-s}, & x \geq m, \\ (m + \alpha)^{-s}, & x < m. \end{cases}$$

By (2.5) and (2.6), it follows

$$f_m(0) = \frac{\alpha^{-1+\lambda/s}}{(m + \alpha)^\lambda} \quad (\lambda \leq s),$$

$$(2.7) \quad f'_m(0) = \begin{cases} (-1 + \frac{\lambda}{s})\alpha^{-2+\lambda/s}(m + \alpha)^{-\lambda}, & \lambda < s, \\ 0, & \lambda = s, \end{cases} \quad (m \geq 1).$$

When $\lambda < s,$ by (2.5), we have

$$(2.8) \quad \begin{aligned} \int_0^\infty f_m(x)dx &= \int_m^\infty (x + \alpha)^{-1-\lambda/r} dx + (m + \alpha)^{-\lambda} \int_0^m (x + \alpha)^{-1+\lambda/s} dx \\ &= \frac{r}{\lambda}(m + \alpha)^{-\lambda/r} + \frac{s}{\lambda}(m + \alpha)^{-\lambda/r} - \frac{s}{\lambda}\alpha^{\lambda/s}(m + \alpha)^{-\lambda} \end{aligned}$$

When $\lambda = s,$ by (2.6),

$$(2.9) \quad \begin{aligned} \int_0^\infty f_m(x)dx &= \int_m^\infty (x + \alpha)^{-s} dx + (m + \alpha)^{-s} \int_0^m dx \\ &= (r - 1)(m + \alpha)^{1-s} + m(m + \alpha)^{-s}. \end{aligned}$$

It is obvious that (2.5) and (2.6) satisfy the condition of (1.8). In particular, (1.8) takes strictly inequality when $\lambda < s, 0 < \lambda \leq \min\{r, s\}$. Thus we obtain the following inequality by (1.8), (2.3) (2.7), (2.8) and (2.1):

$$\begin{aligned}
 \omega_m(s, \lambda, \alpha) &= \sum_{n=0}^{\infty} \frac{(m + \alpha)^{\lambda/r}}{(\max\{m, n\} + \alpha)^\lambda} \left(\frac{1}{n + \alpha}\right)^{1-\lambda/s} \\
 &= (m + \alpha)^{\lambda/r} \sum_{n=0}^{\infty} f_m(n) \\
 &< (m + \alpha)^{\lambda/r} \int_0^{\infty} f_m(x) dx + \frac{1}{2}(m + \alpha)^{\lambda/r} f(0) - \frac{1}{12}(m + \alpha)^{\lambda/r} f'(0) \\
 &= \frac{rs}{\lambda} + \alpha^{-2+\lambda/s} \left[-\frac{s}{\lambda}\alpha^2 + \frac{\alpha}{2} + \frac{1}{12}\left(1 - \frac{\lambda}{s}\right)\right] (m + \alpha)^{-\lambda/s} \\
 &< \frac{rs}{\lambda} - \frac{1}{\alpha^2} \left(\frac{s}{\lambda}\alpha^2 - \frac{\alpha}{2} - \frac{1}{12}\right) \left(\frac{\alpha}{m + \alpha}\right)^{\lambda/s} \\
 &< \frac{rs}{\lambda} \left[1 - \frac{\lambda}{r\alpha^2} \left(\frac{1}{\lambda}\alpha^2 - \frac{\alpha}{2} - \frac{1}{12}\right) \left(\frac{\alpha}{m + \alpha}\right)^{\lambda/s}\right] \\
 (2.10) \quad &\leq \frac{rs}{\lambda} \left[1 - \frac{5\lambda^2}{48r\alpha^2} \left(\frac{\alpha}{m + \alpha}\right)^{\lambda/s}\right] = \frac{rs}{\lambda} \left[1 - \frac{\theta_2(\lambda, s, \alpha)}{(m + \alpha)^{\lambda/s}}\right] < \frac{rs}{\lambda}.
 \end{aligned}$$

At the same time, we have

$$\begin{aligned}
 \omega_m(s, \lambda, \alpha) &= (m + \alpha)^{\lambda/r} \sum_{n=0}^{\infty} f_m(n) \\
 &> (m + \alpha)^{\lambda/r} \int_0^{\infty} f_m(x) dx + \frac{1}{2}(m + \alpha)^{\lambda/r} f_m(0) \\
 &= \frac{rs}{\lambda} - \left(\frac{s}{\lambda} - \frac{1}{2\alpha}\right) \left(\frac{\alpha}{m + \alpha}\right)^{\lambda/s} = \frac{rs}{\lambda} \left[1 - \frac{1}{r} \left(1 - \frac{\lambda}{2s\alpha}\right) \left(\frac{\alpha}{m + \alpha}\right)^{\lambda/s}\right] \\
 (2.11) \quad &> \frac{rs}{\lambda} \left[1 - \frac{\left(1 - \frac{\lambda}{2s\alpha}\right)\alpha^{\lambda/s}}{(m + \alpha)^{\lambda/s}}\right] = \frac{rs}{\lambda} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(m + \alpha)^{\lambda/s}}\right].
 \end{aligned}$$

When $\lambda = s \leq r$, by (1.8), (2.3), (2.7), (2.9), (2.2) and $\alpha \geq \frac{2}{3}\lambda + \frac{1}{12} > \frac{3}{4}$, we get

$$\begin{aligned}
 \omega_m(s, \lambda, \alpha) &= \sum_{n=0}^{\infty} \frac{(m + \alpha)^{s/r}}{(\max\{m, n\} + \alpha)^s} = (m + \alpha)^{s-1} \sum_{n=0}^{\infty} f_m(n) \\
 &= (m + \alpha)^{s-1} \int_0^{\infty} f_m(x) dx + \frac{f_m(0)}{2} (m + \alpha)^{s-1} \\
 &= r - 1 + \frac{2m + 1}{2(m + \alpha)} = r - \frac{2\alpha - 1}{2(m + \alpha)} \\
 (2.12) \quad &< r - \frac{5\lambda^2}{48\alpha(m + \alpha)} = r \left[1 - \frac{5\lambda^2}{48r\alpha(m + \alpha)}\right] < r.
 \end{aligned}$$

At the same time,

$$\begin{aligned}
 \omega_m(s, \lambda, \alpha) &= (m + \alpha)^{s-1} \sum_{n=0}^{\infty} f_m(n) = r - \frac{2\alpha - 1}{2(m + \alpha)} \\
 (2.13) \quad &= r \left[1 - \frac{2\alpha - 1}{2r(m + \alpha)} \right] > r \left[1 - \frac{2\alpha - 1}{2(m + \alpha)} \right] = r \left[1 - \left(1 - \frac{1}{2\alpha} \right) \frac{\alpha}{(m + \alpha)} \right].
 \end{aligned}$$

Hence (2.4) is correct by (2.10), (2.11), (2.12), (2.13) when $m \in N_+$.

Then we consider the condition of $m = 0$, we get $f_0(x) = (x + \alpha)^{-1 - \frac{\lambda}{r}}$ for $0 < \lambda \leq \min\{r, s\}$, $x \in [0, +\infty)$. Obviously, $f_0(0) = \alpha^{-1 - \frac{\lambda}{r}}$, $f'_0(0) = -(1 + \frac{\lambda}{r})\alpha^{-2 - \frac{\lambda}{r}}$. Hence by (1.8) and (2.3), we have

$$\begin{aligned}
 \alpha^{\lambda/r} \int_0^{\infty} (x + \alpha)^{-1 - \frac{\lambda}{r}} dx + \frac{1}{2\alpha} &< \omega_0(s, \lambda, \alpha) = \alpha^{\lambda/r} \sum_{n=0}^{\infty} f_0(n) \\
 &< \alpha^{\lambda/r} \int_0^{\infty} (x + \alpha)^{-1 - \frac{\lambda}{r}} dx + \frac{1}{2\alpha} + \frac{1}{12\alpha^2} \left(1 + \frac{\lambda}{r} \right),
 \end{aligned}$$

i.e.,

$$\frac{r}{\lambda} + \frac{1}{2\alpha} < \omega_0(s, \lambda, \alpha) < \frac{r}{\lambda} + \frac{1}{2\alpha} + \frac{1}{12\alpha^2} \left(1 + \frac{\lambda}{r} \right).$$

And by $2\alpha \geq \frac{4}{3}\lambda + \frac{1}{6} > \lambda > \lambda \cdot \frac{r-1}{r}$, we obtain $\frac{r}{\lambda} > \frac{r-1}{2\alpha}$, i.e., $\frac{r}{\lambda} + \frac{1}{2\alpha} > \frac{r}{2\alpha} = \frac{rs}{\lambda} \left[1 - \left(1 - \frac{\lambda}{2s\alpha} \right) \right]$. By (2.1), we obtain

$$\begin{aligned}
 &\frac{rs}{\lambda} \left(1 - \frac{5\lambda^2}{48r\alpha^2} \right) - \frac{r}{\lambda} - \frac{1}{2\alpha} - \frac{1}{12\alpha^2} \left(1 + \frac{\lambda}{r} \right) \\
 &= \frac{1}{\alpha^2} \left(\frac{s}{\lambda} \alpha^2 - \frac{\alpha}{2} - \frac{1}{12} - \frac{5s\lambda}{48} - \frac{\lambda}{12r} \right) \\
 &= \frac{1}{\lambda\alpha^2} \left(\frac{s}{r} \alpha^2 + \lambda F(\lambda, \alpha) - \frac{5s\lambda^2}{48} - \frac{\lambda^2}{12r} \right) \\
 &\geq \frac{1}{\lambda\alpha^2} \left(\frac{s}{r} \alpha^2 + \frac{5(1-s)\lambda^2}{48} - \frac{\lambda^2}{12r} \right) \\
 &= \frac{s-1}{\lambda\alpha^2} \left(\alpha^2 - \frac{5\lambda^2}{48} - \frac{\lambda^2}{12s} \right) \\
 &\geq \frac{s-1}{\lambda\alpha^2} \left[\left(\frac{2}{3}\lambda + \frac{1}{12} \right)^2 - \frac{5\lambda^2}{48} - \frac{\lambda^2}{12s} \right] \\
 &= \frac{(s-1)[(49s-12)\lambda^2 + s(16\lambda+1)]}{144\lambda s\alpha^2} > 0
 \end{aligned}$$

i.e.,

$$\frac{r}{\lambda} + \frac{1}{2\alpha} + \frac{1}{12\alpha^2} \left(1 + \frac{\lambda}{r} \right) < \frac{rs}{\lambda} \left(1 - \frac{5\lambda^2}{48r\alpha^2} \right).$$

Hence (2.4) is correct for $m = 0$. The lemma is proved. \square

Remark. By symmetry, (2.4) is still correct as s and m are replaced by r and n respectively.

Lemma 2.3. Suppose $(p, q), (r, s)$ are two pairs of conjugate exponents, and $0 < p < 1, r > 1, 0 < \lambda \leq \min\{r, s\}, \alpha \geq \frac{2}{3}\lambda + \frac{1}{12}$, then we get the following inequality for $0 < \varepsilon < \frac{p\lambda}{r}$:

$$\begin{aligned}
 \tilde{I} &:= \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{(m + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}(n + \alpha)^{-1-\frac{\varepsilon}{q}+\frac{\lambda}{s}}}{(\max\{m, n\} + \alpha)^{\lambda}} \\
 (2.14) \quad &< \frac{\lambda}{(-\frac{\varepsilon}{p} + \frac{\lambda}{r})(\frac{\varepsilon}{p} + \frac{\lambda}{s})} \sum_{n=1}^{\infty} \frac{1}{(n + \alpha)^{1+\varepsilon}}.
 \end{aligned}$$

Proof. Setting $g(x) = \frac{1}{(\max\{x, n\} + \alpha)^{\lambda}}(x + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}$. Obviously, $g(x)$ is decreasing in $(-\alpha, \infty)$, thus

$$\begin{aligned}
 \sum_{m=1}^{\infty} g(m) &< \int_{-\alpha}^{\infty} g(x)dx = \int_{-\alpha}^{\infty} \frac{(x + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}}{(\max\{x, n\} + \alpha)^{\lambda}} dx \\
 &= \int_{-\alpha}^n \frac{(x + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}}{(n + \alpha)^{\lambda}} dx + \int_n^{\infty} \frac{(x + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}}{(x + \alpha)^{\lambda}} dx \\
 (2.15) \quad &= \frac{\lambda(n + \alpha)^{-\frac{\varepsilon}{p}-\frac{\lambda}{s}}}{(-\frac{\varepsilon}{p} + \frac{\lambda}{r})(\frac{\varepsilon}{p} + \frac{\lambda}{s})}.
 \end{aligned}$$

By (2.15), we find

$$\begin{aligned}
 \tilde{I} &:= \sum_{n=1}^{\infty} (n + \alpha)^{-1-\frac{\varepsilon}{q}+\frac{\lambda}{s}} \sum_{m=1}^{\infty} \frac{(m + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}}{(\max\{m, n\} + \alpha)^{\lambda}} \\
 &= \sum_{n=1}^{\infty} (n + \alpha)^{-1-\frac{\varepsilon}{q}+\frac{\lambda}{s}} \sum_{m=1}^{\infty} g(m) \\
 &< \sum_{n=1}^{\infty} (n + \alpha)^{-1-\frac{\varepsilon}{q}+\frac{\lambda}{s}} \left[\frac{\lambda(n + \alpha)^{-\frac{\varepsilon}{p}-\frac{\lambda}{s}}}{(-\frac{\varepsilon}{p} + \frac{\lambda}{r})(\frac{\varepsilon}{p} + \frac{\lambda}{s})} \right] \\
 &= \frac{\lambda}{(-\frac{\varepsilon}{p} + \frac{\lambda}{r})(\frac{\varepsilon}{p} + \frac{\lambda}{s})} \sum_{n=1}^{\infty} \frac{1}{(n + \alpha)^{1+\varepsilon}}.
 \end{aligned}$$

Hence (2.14) is true. The lemma is proved. □

3. Main results and applications

Theorem 3.1. Suppose $(p, q), (r, s)$ are two pairs of conjugate exponents, and $0 <$

$p < 1$, $r > 1$, $0 < \lambda \leq \min\{r, s\}$, $\alpha \geq \frac{2}{3}\lambda + \frac{1}{12}$, $a_n, b_n \geq 0$, such that $0 < \sum_{n=0}^{\infty} (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p < \infty$ and $0 < \sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q < \infty$, then

$$\begin{aligned} I &:= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{(\max\{m, n\} + \alpha)^\lambda} \\ (3.1) &> \frac{rs}{\lambda} \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}}, \end{aligned}$$

where $0 < \theta_1(\lambda, s, \alpha) = (1 - \frac{\lambda}{2s\alpha})\alpha^{\frac{\lambda}{s}} < \alpha^{\frac{\lambda}{s}}$ and the constant factor $\frac{rs}{\lambda}$ is the best possible. And (3.1) can be strengthened as

$$\begin{aligned} I &> \frac{rs}{\lambda} \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p \right\}^{\frac{1}{p}} \\ (3.2) &\quad \times \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_2(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}}, \end{aligned}$$

where $\theta_2(\lambda, s, \alpha) = \frac{5\lambda^2}{48r}\alpha^{\frac{\lambda}{s}-2}$.

Proof. Applying Hölder's inequality (see [12]) and (2.3), we have

$$\begin{aligned} I &:= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{(\max\{m, n\} + \alpha)^\lambda} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{1}{(\max\{m, n\} + \alpha)^\lambda} \left[\frac{(m + \alpha)^{(1-\frac{\lambda}{r})/q}}{(n + \alpha)^{(1-\frac{\lambda}{s})/p}} a_m \right] \left[\frac{(n + \alpha)^{(1-\frac{\lambda}{s})/p}}{(m + \alpha)^{(1-\frac{\lambda}{r})/q}} b_n \right] \\ &\geq \left\{ \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{(m + \alpha)^{(p-1)(1-\frac{\lambda}{r})}}{(\max\{m, n\} + \alpha)^\lambda} \left(\frac{1}{n + \alpha} \right)^{1-\frac{\lambda}{s}} a_m^p \right\}^{\frac{1}{p}} \\ &\quad \times \left\{ \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{(n + \alpha)^{(q-1)(1-\frac{\lambda}{s})}}{(\max\{m, n\} + \alpha)^\lambda} \left(\frac{1}{m + \alpha} \right)^{1-\frac{\lambda}{r}} b_n^q \right\}^{\frac{1}{q}} \\ (3.3) &= \left\{ \sum_{m=0}^{\infty} \omega_m(s, \lambda, \alpha) (m + \alpha)^{p(1-\frac{\lambda}{r})-1} a_m^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} \omega_n(r, \lambda, \alpha) (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}}. \end{aligned}$$

Since $0 < p < 1, q < 0$, by (2.4) and the remark of Lemma 2, (3.1) can be seen. And by the right hand side of (2.4), we get (3.2). For $q < 0$, we have

$$\left\{ \frac{rs}{\lambda} \sum_{n=0}^{\infty} \left[1 - \frac{\theta_2(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}} > \left\{ \sum_{n=0}^{\infty} \omega_n(r, \lambda, \alpha) (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}}.$$

(3.1) can be deduced from (3.2), hence (3.2) is the strengthened version of (3.1).

If the constant factor $\frac{rs}{\lambda}$ in (3.1) is not the best possible, then there exists a positive constant k (with $k < \frac{rs}{\lambda}$). For $0 < \varepsilon < \frac{p\lambda}{r}$, in particular, setting $\tilde{a}_0 = 0, \tilde{b}_0 = 0; \tilde{a}_n = (n + \alpha)^{-1-\frac{\varepsilon}{p}+\frac{\lambda}{r}}, \tilde{b}_n = (n + \alpha)^{-1-\frac{\varepsilon}{q}+\frac{\lambda}{s}}, n \in N$, by the assumption, we find

$$\begin{aligned}
 \tilde{I} &= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{\tilde{a}_m \tilde{b}_n}{(\max\{m, n\} + \alpha)^\lambda} \\
 &> k \left\{ \sum_{n=1}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{p(1-\frac{\lambda}{r})-1} \tilde{a}_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} \tilde{b}_n^q \right\}^{\frac{1}{q}} \\
 &= k \left\{ \sum_{n=1}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] \frac{1}{(n + \alpha)^{1+\varepsilon}} \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} \frac{1}{(n + \alpha)^{1+\varepsilon}} \right\}^{\frac{1}{q}} \\
 (3.4) \quad &= k [1 - o(1)]^{1/p} \sum_{n=1}^{\infty} \frac{1}{(n + \alpha)^{1+\varepsilon}}.
 \end{aligned}$$

In view of (2.14) and (3.4), we get

$$\frac{\lambda}{(-\frac{\varepsilon}{p} + \frac{\lambda}{r})(\frac{\varepsilon}{p} + \frac{\lambda}{s})} \sum_{n=1}^{\infty} \frac{1}{(n + \alpha)^{1+\varepsilon}} > k [1 - o(1)]^{1/p} \sum_{n=1}^{\infty} \frac{1}{(n + \alpha)^{1+\varepsilon}},$$

i.e., $\frac{\lambda}{(-\frac{\varepsilon}{p} + \frac{\lambda}{r})(\frac{\varepsilon}{p} + \frac{\lambda}{s})} > k [1 - o(1)]^{1/p}$ for $\varepsilon \rightarrow 0^+$, it follows that $k \leq \frac{rs}{\lambda}$, which contradicts the fact that $k > \frac{rs}{\lambda}$. Hence the constant factor $\frac{rs}{\lambda}$ in (3.1) is the best possible. The theorem is proved. \square

Theorem 3.2. *Suppose $(p, q), (r, s)$ are two pairs of conjugate exponents, and $0 < p < 1, r > 1, 0 < \lambda \leq \min\{r, s\}, \alpha \geq \frac{2}{3}\lambda + \frac{1}{12}, a_n, b_n \geq 0$ such that $0 < \sum_{n=0}^{\infty} (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p < \infty$, then*

$$\begin{aligned}
 J &:= \sum_{n=0}^{\infty} (n + \alpha)^{\frac{p\lambda}{s}-1} \left[\sum_{m=0}^{\infty} \frac{a_m}{(\max\{m, n\} + \alpha)^\lambda} \right]^p \\
 (3.5) \quad &> \left(\frac{rs}{\lambda}\right)^p \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p,
 \end{aligned}$$

where $0 < \theta_1(\lambda, s, \alpha) = (1 - \frac{\lambda}{2s\alpha})\alpha^{\frac{\lambda}{s}} < \alpha^{\frac{\lambda}{s}}$, and the constant factor $(\frac{rs}{\lambda})^p$ is the best possible. Inequality (3.5) is equivalent to (3.1).

Proof. Setting b_n as

$$b_n := (n + \alpha)^{\frac{p\lambda}{s}-1} \left[\sum_{m=0}^{\infty} \frac{a_m}{(\max\{m, n\} + \alpha)^\lambda} \right]^{p-1} \quad (n \in N_0)$$

then $b_n > 0$ and $\sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q = J > 0$. If $J = \infty$, then (3.5) is naturally valid; if $0 < J < \infty$, then by (3.1), we find

$$\begin{aligned} & \sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q = J = I \\ (3.6) \quad & > \frac{rs}{\lambda} \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}}. \end{aligned}$$

Thus

$$(3.7) \quad \sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q = J > \left(\frac{rs}{\lambda} \right)^p \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(\lambda, s, \alpha)}{(n + \alpha)^{\frac{\lambda}{s}}} \right] (n + \alpha)^{p(1-\frac{\lambda}{r})-1} a_n^p,$$

and (3.5) is correct.

On the other hand, suppose (3.5) is valid. By Hölder's inequality, we find

$$\begin{aligned} I &= \sum_{n=0}^{\infty} \left\{ (n + \alpha)^{\frac{\lambda}{s} - \frac{1}{p}} \sum_{m=0}^{\infty} \frac{a_m}{(\max\{m, n\} + \alpha)^\lambda} \right\} \left\{ (n + \alpha)^{\frac{1}{p} - \frac{\lambda}{s}} b_n \right\} \\ (3.8) \quad & \geq \left\{ \sum_{n=0}^{\infty} (n + \alpha)^{\frac{p\lambda}{s}-1} \left[\sum_{m=0}^{\infty} \frac{a_m}{(\max\{m, n\} + \alpha)^\lambda} \right]^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} (n + \alpha)^{q(1-\frac{\lambda}{s})-1} b_n^q \right\}^{\frac{1}{q}}. \end{aligned}$$

By (3.5) and $0 < p < 1$, we get (3.1). Hence (3.1) is equivalent to (3.5). If the constant factor $\left(\frac{rs}{\lambda}\right)^p$ in (3.5) is not the best possible, then by (3.8), it contradicts the fact that $\frac{rs}{\lambda}$ in (3.1) is not the best possible too. Thus the constant factor $\left(\frac{rs}{\lambda}\right)^p$ in (3.5) is the best possible. The theorem is proved. \square

Remark. (i) By Th. 3.1, for $\lambda = 1, \alpha \geq \frac{2}{3} + \frac{1}{12} = \frac{3}{4}$, (3.1) reduces to

$$(3.9) \quad \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{\max\{m, n\} + \alpha} > rs \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(s, \alpha)}{(n + \alpha)^{\frac{1}{s}}} \right] (n + \alpha)^{\frac{p}{s}-1} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} (n + \alpha)^{\frac{q}{r}-1} b_n^q \right\}^{\frac{1}{q}},$$

where $\theta_1(s, \alpha) = \left(1 - \frac{1}{2s\alpha}\right) \alpha^{\frac{1}{s}}$, and (3.9) can be strengthened as

$$(3.10) \quad I > rs \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(s, \alpha)}{(n + \alpha)^{\frac{1}{s}}} \right] (n + \alpha)^{\frac{p}{s}-1} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_2(s, \alpha)}{(n + \alpha)^{\frac{1}{s}}} \right] (n + \alpha)^{\frac{q}{r}-1} b_n^q \right\}^{\frac{1}{q}},$$

where $\theta_2(s, \alpha) = \frac{5}{48r} \alpha^{\frac{1}{s}-2}$. By the characteristics of the constant factor of (1.4) and (3.9), it shows that the problem of reverse version of (1.4) can be solved by introducing two pairs of conjugate exponents independent. Thus (3.9) is the reverse version of (1.4).

When $\lambda = 1, \alpha \geq \frac{3}{4}, r = \frac{1}{p}, s = \frac{1}{1-p}, 0 < p < 1$, (3.9) becomes to

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{a_m b_n}{\max\{m, n\} + \alpha} \tag{3.11}$$

$$> \frac{1}{p(1-p)} \left\{ \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(p, \alpha)}{(n + \alpha)^{1-p}} \right] (n + \alpha)^{(1-p)p-1} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=0}^{\infty} (n + \alpha)^{pq-1} b_n^q \right\}^{\frac{1}{q}}.$$

And by (3.5), we obtain the equivalent form of (3.11) as

$$\sum_{n=0}^{\infty} (n + \alpha)^{(1-p)p-1} \left[\sum_{m=0}^{\infty} \frac{a_m}{\max\{m, n\} + \alpha} \right]^p \tag{3.12}$$

$$> \left[\frac{1}{p(1-p)} \right]^p \sum_{n=0}^{\infty} \left[1 - \frac{\theta_1(p, \alpha)}{(n + \alpha)^{1-p}} \right] (n + \alpha)^{(1-p)p-1} a_n^p,$$

where $\theta_1(p, \alpha) = (1 - \frac{1-p}{2\alpha}) \alpha^{1-p}$.

Acknowledgment. The work was partially supported by the Natural Science Foundation of Guangdong Institutions of Higher Learning and College and University(China, No. 05Z026). The author would like to thank the anonymous referee for his or her suggestions and corrections.

References

- [1] G. H. Hardy, J. E. Litterwood and G. Polya, *Inequalities*, Cambridge Univ Press Cambridge, 1952.
- [2] D. S. Mitrinovic, J. E. Pecaric and A. M. Fink, *Inequalities involving functions and their integrals and derivatives*, Mathematics and its Applications, 53. Kluwer Academic Publishers Group, Dordrecht, 1991.
- [3] J. Kuang, *On new extensions of Hilbert's integral inequality*, J. Math. Anal. Appl., **235**(1999), 608-614.
- [4] B. Yang, *On an extension of Hardy-Hilbert's inequality*, Chinese Annals of Math., **23A(2)**(2002), 247-254 (in Chinese).
- [5] B. Yang, *On generalizations of Hardy-Hilbert's inequality and their equivalent forms*, J. Math., **24(1)**(2004), 24-30 (in Chinese).

- [6] B. Yang, *On a new extension of Hilbert's inequality with some parameters*, Acta MathHungar., **108(4)**(2005), 337-350.
- [7] B. Yang, *A more accurate hardy-hilbert's type inequality*, Journal of Xnyang Nrmal University(Natural science edition), **18(2)**(2005), 140-142.
- [8] B. Yang, *On a reverse of the Hardy-Hilbert's type inequality[J].*, Inequalities Theory and Applications, **4**(2004).
- [9] B. Yang, *A Reverse of the Hardy-Hilbert's Type Inequality*, Mathematics in practice and theory., **36(11)**(2006), 207-212.
- [10] B. Yang and G. Wang, *Some inequalities on harmonic series*, J. Math. Study, **29(3)**(1996), 90-97, (Chinese).
- [11] B. Yang, *Inequalities on the Hurwitz Zeta-Function Restricted to the Axis of Positive Reals*, 36(1997), no. 36, 30-35.
- [12] J. Kuang, *Applied Inequalities*, 3rd edition, Shandong Science and Technology Press, Jinan City, China, 2004.